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ADD MATHS MARKING SCHEME YIK TRIAL 2020 - P1

. . Sub- | Total
No. Solution and Marking Scheme marks | Marks
1. | Nota function. 1
g(x) is a quadratic function. It is not a one-to-one relation and hence, the 2
inverse does not exist. 1
2. |k=149 3
(7 k
Bl:a+ 2a =21 or 2a* = g *(let a = the smaller roots)
3. |(@x=-3 1 3
(b)p=3,9=3 2
4, |-12<m<4 3
B2: (m+12)(m-4)<0 3
Bl1:m?—-4(2)(6-m)<0
5 |9 2
B1l: 32¥27X = 5 2
6. =-21 3
B2: (X2 + 56X + 784) — (x* + 52x + 676)=(x* + 52x + 676) — (x* + 40x + 400) 3
B1: (28 + x)2 — (26 + X)? = (26 + x)> — (20 + X)?
7. | Year 2028 3
B2:n=10 3
B1: 280000(1.09)" 1 > 280000 x 2
8. |x=h+3 3
. — hz
B2:1= T 3
LAy _ 4 R? . . . .
Bl.—=1 a7 *(Stationary Points = Turning Points)
9. |k=3 3
B2:x=3 3
Lay -6 —b _ _:
B1: e 2x + 6 or D 3 *(Za = axis of symmetry)
3y _1 -2+ 1
10. | logs2 = = o logs 2 > 50 3
B2: 10g42* + l0gs 5 = 37" or logs (16 x 5) = 37" 3
.log,80
" log.8
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11.

@y*=;Vx+1

BL: (13)2 =2(8) +n
(b) x = 100

BL: 16 =>vx +1

12.

(a) BOC = 1.2165 rad.

B1: 82 =72+ 72— 2(7)(7) cos zBOC
(b) 35.4757 cm

B2: 7+ 8+ 7+ (m—1.21649)(7)

13.

5.8817 km
B2: ~VIB5(x) = 40
B1:BC=,/(8—(—3))2+ (3 —11)2

14.

k=2
B2: (k- (-2))/(3-k)=4
Bl m(—i) =-lorm=-1+ (—i)

15.

@t=3s

Bl: (3t—15+2t)=0 *(group j)
(b) v=(-3i-2j)cms™?

B1: (20 +3p)i +9j = 11i + 9j

16.

0= () (2)
B1: AQ = (2)(-3a+4b)

17.

@) y=— G)x +135
(if) A = ~(3)x2 + 405x
(b)x=45m
B1: -9x+405=0

18.

1
X — -
2
B2: (2x-1)logs 5

2Xx
B1: 10g25 5? or 10g25 52x_1

19.

-3

2
B2: /3 sin®=2cos @

B1: 3 cos 8 = 2(cos 60 cos & — sin 60 sin &)

20.

@n=3m+4
(b)m=6
B2:3m?+8m—156 =0
B1: 66+12 = (3)(4 +(3m+4)(m)
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21. | (@) M and N are not mutually exclusive. (P(M) + P(N) = 0.7 # 0.58) 1
(b) M and N are independent. (P(M) x P(N) = P(M n N)) 1 3
P(MNN)=P(M)+P(N)-P(MUN)=0.7-058=0.12 1
22. |6 3
] 4
B2: 3(2!) or (2—) _ 3 3
B1: 3!
23. | Melor : Teratai=1:3 3
B2: 7.8m = 2.6t 3
B1; 2700t _ 73 x(let m = Melor, t = Teratai)
m+t
8
2.1 @ 17 9 8 8 2
. 7
8L () (&) o () (%) 3
= 1
(b) -
25. | () k=— 2
B1: [-4lk + |-3|k + |-2|k + |1k + 2k = 1 4
(b) *(Question Error) (2)
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